翻译100句作业
助教小白（早9-12点） 9月13号 星期四 09:21
大家到这个链接做100句翻译作业
https://www.hungry-english.com/grammar/grammar_translate/
今天是《主谓宾结构》，要做15句。
提交答案以后会有例句和解析，如果解析不能满足你，欢迎在题目留言写下你的困惑。
做完翻译还要记住句中的词伙。
今天的任务量不满足，可以给自己加量。
（100句可以做很多遍，做到正确率达到80%以上为止）。
如果觉得以上的翻译练习做得比较懵逼，自己缺乏更基础的语法知识。
建议大家购买《手把手教你24小时搞懂英文语法》，俗称小白书。
老顾总结了一些基本的语法知识，看完以后大家应该对我们雅思写作的语法有一个比较清晰的脉络。 

语法翻译题库(经典100句/主谓宾结构)
Q10 经常做运动会提高人的自信。
点击查看答案解析:[image: image1.png]



Q11 教学质量对学生成绩有很大影响
点击查看答案解析:[image: image2.png]



正确的句子：
The quality of teaching can make a huge difference to  students’academic performance.
句子结构分析：
The quality of teaching  can make a huge difference to  students’ academic performance.
主语                             谓语                                            宾语
学生错句1：
Teaching quality have huge influence for academic performance.
解释：
1主谓不一致，单数名词后应该加has。
2 influence 后面应该加介词on.
学生错句2:
Teaching qualities are important to kids improve academic performance.
解释：
1 quality 表示质量的时候是不可数名词。
2 介词to后面不能直接接句子。
3 kids 太口语化，不要用在书面语里
学生错句3：
teaching quality have big impact on academic preformance
解析：1 主谓不一致
2 impact 是可数名词，不能裸奔
学生错句4：
The quality of teaching has amount of influent on student’s degree.
解释：degree不是成绩，是学历什么的
influent??应该是influence , 况且并没有amout of influence 这种表达
学生错句5：
Quality of teaching can have an enormous impact on improving grades.
解释：have an impact on sth.,后面不要加动名词，直接加名词
学生错句5：
the quality of teaching make huge difference in student's  academic preformance.
 解释：make difference 中间要加冠词a，后面要加介词to
替换表达：
The quality of teaching/The standard of education
make a big/huge/positive difference to
have a huge impact/influence/effect on
academic performance/school grades.
levels of attainment/achievement
题目讨论
Q13 经济下滑引起失业率上升。
点击查看答案解析:[image: image3.png]



正确的句子：
The economic slowdown has led to a climbing / rising / increasing unemployment rate.
句子结构分析：
 The economic slowdown   has led to   a climbing / rising / increasing unemployment rate.
主语               谓语              宾语
学生的错句1：
Economic slowdown made the climbing unemployment rate.
解释：
1描述事实的句子不要用过去时。此句中应该用完成时，表示已经发生的事情对现在造成的结果和影响。
2 最好用不定冠词a,因为不断上升的失业率不是一个固定的数字。
 
学生的错句2：
The economic slowdown has led to increasing unemployment rate
错误的原因：rate可数名词，要加冠词，或者说 higher unemployment
 
学生的错句3：
Economic slowdown lead to unemployment rate increased.
解析：lead to 后面接名词词组， 要用increasing 修饰，而不是increased，况且分词修饰名词的时候不能放在名词后面。
学生的错句4：
The economic slowdown leads the increase of unemployment rate.
解析：lead不及物，后面要先接介词to,再接名词
题目讨论
Q14 经济的发展需要年轻的劳动者。
点击查看答案解析:[image: image4.png]



正确的句子：
 A country's economic development relies on a supply of young workers.
句子结构分析：
A country's economic development    relies on   a supply of young workers.
主语                      谓语                     宾语
替换表达：
Economic growth
A young workforce，可数，但通常用单数形式
The economic development of a country,所有格前要加the表示特指
学生错句1：
The economic development requires a great number of fresh working forces.
解释：
1 fresh 不能表示年轻。
2 working forces 这个表达不对，应该是workforce 或者是labor force.LabourForce 前面一般加冠词 a+形容词
 
学生错句2 ：
The improvement of economic needs young employees.
解释：
of 前后都要加名词，所以要把economic 换成economy 的名词形式。
 
学生的错句3：
 Economic development need a young workforce.
错误的原因：主谓不一致
 
学生的错句4：
Economic developing needs the youth labors
解析：词性不清，developing是现在分词，只能做定语，不能当名词用
youth是名词
题目讨论
Q15 工作很忙的人没有时间去休息。
点击查看答案解析:[image: image5.png]



正确的句子：
People with a heavy workload do not have adequate time to rest.
句子结构分析：
 People with a heavy workload         do not have     adequate time          to  rest.
 主语（名词+介宾短语充当后置定语）  谓语    定语+ 宾语  后置定语修饰time
学生的错句1：
People who are busy at working do not have much time to rest.
解释：
忙于做某事的两种表达是be busy doing sth或者是 be busy with sth，没有be busy at sth 的说法。
 
学生的错句2：
People with heavy works cannot have adequate times to rest and recharge batteries.
解释：
1work 和 time 都是不可数名词。
2 cannot 表示不可能，这里应该用do not 表示没有的意思，注意都不要用缩写形式。
 
学生的错句3：
People with a heavy workload have no adequate time to rest.
错误的原因：no后面一般加名词比较多， do not have adequate time to ...
 
学生的错句4：
people in heavy works do not have time to take a relax
解析：介词in要换成with，work 不可数。
 
学生的错句5：
people with an heavy workload do not have adequate time to rest
解释：an heavy ,不是所有h开头的词都要用不定冠词an，只有发音跟元音一样时才需要，比如hour。这里用a就好。
 
题目讨论
Q16 在中国，很多学生晚上都要自习。
点击查看答案解析:[image: image6.png]



正确的句子：
A large number of students   in China     have to do   self-study     at night.
句子结构分析：
A large number of students   in China     have to do   self-study     at night.
     限定词+     主语       后置定语   谓语    宾语    时间状语
替换表达
self-study,self-education,do revision 都可以表示自习
学生的错句1：
Large number of students in China would do self-study at night
解释：
1 规律性的事情一般用一般现在时即可
2 a large number of 是固定搭配，相当于many.
 
学生的错句2：
In China, lots of students have to do self-study in the evening.
错误的原因：可能用many, numerous, a vast majority of 更加正式
 
学生的错句3：
In China, many students have to self-education at night.
解释：have to 后面要加动词，而self-education是个名词，前面要加do/take
self-study也是名词，不能直接放在介词后面
题目讨论
Q18 我们不能够忽视面对面的交流。
点击查看答案解析:[image: image7.png]



正确的句子：
We should not ignore face-to-face communication.
句子结构分析：
We    should not ignore   face-to-face communication.
主语            谓语                                 宾语
学生错句1：
It can not be overlooked by people to have a face to face communication.
解释：
1 cannot 是一个单词，不能分开写。
2 it 指代不清，后面的to 用的也不太恰当，不定式一般指没有发生但有可能发生的事情。这里没有必要用主语从句，一般简单句即可。
3 face to face是副词，用来修饰动词。在communication 这个名词前面应该用face-to-face 的形容词形式。
 
学生的错句2： 
We can not ignore the face-to-face communication.
错误的原因：cannot是一个单词，不能分开写；communication不可数名词，不用加冠词
题目讨论
Q20 我们需要考虑社会和经济的环境。
点击查看答案解析:[image: image8.png]



正确的句子：
We have to consider the social and economic context.
句子结构分析：
We    have to consider    the social and economic context.
主语            谓语                             定语+      宾语
替换表达：
Take into account/consideration.
Environment/settings/context
学生错句1：
We need to consider about social and economical environment.
解释：
1consider 是及物动词，后面可以直接加宾语，不需要加介词about.。
2 environment在此句语境中表示：the people and things that are around you in your life, for example the buildings you use, the people you live or work with,and the general situation you are in .是可数名词，应该用复数形式。
3 economical:using money ,time,goods carefully and without wasting any，有节省的意思，放在此句中不合适，应该用economic表示和经济相关的。
 
学生错句2：
We should concern that the environment of economy and society.
错误的原因：concern类似于worry，一般是说we are concerned about something, 或者是something concerns us
 
学生错句3：
We ought to consider the context of social and economical.
解释：of 后面要接名词，应该用society和economy。
 
学生错句4：
We need to consider about the social and economic context.
consider做动词时及物，不要用介词about
题目讨论
Q22 平等接受教育的机会能够帮助学生解决成绩不好的问题。
点击查看答案解析:[image: image9.png]



正确的句子：
 Equal access to education can help tackle educational underachievement.
句子结构分析：
 Equal access    to education  can help tackle   educational underachievement.
   定语 +主语         后置定语              谓语                        宾语 （省略了to）
替换表达：
Poor grades/performance
Educational equality/equal educational opportunities
学生错句1：
Equally access to education can help students improve their academic performance.
解释：
1 题目中是解决问题，翻译里面变成了提高成绩，不太符合句意。
2 access 是名词，前面应该用形容词equal来修饰。
 
学生错句2：
Equal access to educational can help to solve the problems of poor grades.
错误的原因：problems是多余的，poor grades本身就是一个problem
 
学生错句3：
Having equal educational opportunity will assist the low grades of students.
解释：assist the low grades of students.，assist 不能这么用，应该是assist sb with sth,assist sb in doing sth，这里这么按照中文硬翻是不行的
题目讨论
Q23 接触不同的文化可以促进创新。
点击查看答案解析:[image: image10.png]



正确的句子：
Exposure to different cultures can encourage / promote / boost / inspire / stifle creativity.
句子结构分析：
Exposure   to different cultures  can encourage / promote / boost / inspire / stifle   creativity.
   主语               后置定语                                          谓语                   宾语
解释：
Exposure to: the chance to experience new ideas,ways of life.
学生错句1：
Approaching to /Getting in touch with different cultures can promote innovations.
解释：
1 approach是及物动词，后面可以直接加宾语，不需要加介词to。并且approach 的语意是：to move towards or nearer to someone or something ；to ask someone for something.在这里明显不符合句意。
2 getting in touch with :to realize and understand something such as your feelings and attitudes,不符合语境，不能乱用。
 
学生错句2：
Contact with different cultures can encourage innovations
contact 这里是动词，放在句首要加ing变成动名词形式。
 
学生错句3： 
Get in touch with separate cultures can promote creativity.
解释： get in touch with 动词词组放在句首做主语要用ing形式，动名词才能是主语
语法翻译题库(经典100句/主谓宾结构)
Q24 政府应该重视社会福利，尤其是医疗服务。
点击查看答案解析:[image: image11]
正确的句子：
The government should give priority to welfare services, especially health care.
句子结构分析：
The government  should give priority to  welfare services, especially health care.
         主语                                 谓语                     宾语         同位语
学生错句1：
The government should pay close attention to social welfare,especially the health care
解释：
health care 是不可数名词，前面不要加定冠词the。
 
学生错句2：
Government should focus on welfare services especially healthcare services.
错误的原因：government可数名词，要加冠词，或者复数
题目讨论
Q25 教育或许决定了人的工作前景
点击查看答案解析:[image: image12]
正确的句子：
Education may hold the key to one’s job prospects.
句子结构分析：
Education  may hold the key to  one’s job prospects.
主语              谓语                            宾语
替换表达：
job opportunities /career advancement
学生错句1：
The education level may be decisive to one’s working opportunities.
解释：
1 education level 不能表示受教育水平或者接受教育的机会
2 decisive: something has a big effect on the way that something develops, 用在这里本身没错，但应该说play a decisive role in .
3 working opportunities 中式英语
 
学生错句2：
People’s education perhaps determines their work prospects.
解释：
People’s education，不要这样说，直接说Education 就好了
这个句子就是按照中文逐字翻译的，要注意积累词伙
 
学生错句3：
Education maybe holds the key to one’s work prospect.
解释：
Maybe是副词，一般放在句首，用may就好了
 
学生错句4：
Education has hold the key to people’ s career prospects.
解释：hold 的过去分词是held,况且本句没有必要用现在完成时
 
题目讨论
Q26 教育或许决定了人的工作前景
点击查看答案解析:[image: image13]
正确的句子：
Education may hold the key to one’s job prospects.
句子结构分析：
Education  may hold the key to  one’s job prospects.
主语              谓语                            宾语
替换表达：
job opportunities /career advancement
学生错句1：
The education level may be decisive to one’s working opportunities.
解释：
1 education level 不能表示受教育水平或者接受教育的机会
2 decisive: something has a big effect on the way that something develops, 用在这里本身没错，但应该说play a decisive role in .
3 working opportunities 中式英语
 
学生错句2：
People’s education perhaps determines their work prospects.
解释：
People’s education，不要这样说，直接说Education 就好了
这个句子就是按照中文逐字翻译的，要注意积累词伙
 
学生错句3：
Education maybe holds the key to one’s work prospect.
解释：
Maybe是副词，一般放在句首，用may就好了
 
学生错句4：
Education has hold the key to people’ s career prospects.
解释：hold 的过去分词是held,况且本句没有必要用现在完成时
 
题目讨论
Q28 建造住宅楼有助于解决城市的拥堵问题。
点击查看答案解析:[image: image14]
正确的句子：
Building apartment blocks helps solve overcrowding in cities.
句子结构分析：
Building apartment blocks helps  solve overcrowding  in cities.
     主语                         谓语       宾语（不加to）  后置定语
替换表达：
Apartment building, blocks of flats, residential buildings.
学生错句1：
Constructing resident buildings helps resolve the city’s congestion problems.
解释：
1 residential buildings固定搭配
2 congestion 一般是指full of traffic.但在这里城市的拥堵问题不单指交通问题。
 
学生错句2：
Building apartment could help solve the crowding problem in cities.
解释：
你可以说apartment buildings
 
学生错句3：
To build apartments are benefit to solve the problem of crowded in cities
解释：这里用了不定式做主语，谓语要用第三人称单数，主语并不是apartments.而且这里最好就用名词做主语。
the problem of crowded，表达别扭
 
学生错句4：
Constructing apartment blocks can help solving overcrowding
解释：Constructing apartment blocks can help solving overcrowding
 解析：help(to)do sth，后面不接动名词
 
学生错句5：
 Residential building are contribute to solute traffic jams problem.
解释：contribute to 是个动词词组，前面不能再加be 动词
solute ?是溶质的意思， 要用solve，traffic jam是一个问题，后面不要加Problem
 
题目讨论
Q29 贫穷的人可以通过努力工作来提高其社会地位。
点击查看答案解析:[image: image15]
正确的句子：
 People from disadvantaged backgrounds can improve their social status by working hard.
句子结构分析:
 People from disadvantaged backgrounds  can improve their social status by working hard.
      主语+后置定语                               谓语       宾语                        状语
替换表达：
From less well-off backgrounds
Of low socio-economic status
学生错句1：
Disadvantaged people /The poverty can raise their social statue by hard working.
解释：
1 Disadvantaged (having social problems ,such as a lack of money or education,which make it difficult for you to succeed),用在本句中没错; poverty 表示the situation or experience of being poor, 可以用people who live in poverty，但不能直接说the poverty,这只是表示一种贫穷的状态。可以说the poor. The+形容词=形容词+people.
2 statue是指雕像，地位是status.
3 by 后面应该加动名词形式，改成working hard 会更好。
 
学生错句2：
People with poor background could improve their social status by working hard.
解释：
People with poor background，介词应该用from, 可以说disadvantaged/deprived/less well-off ，不要说poor backgrounds.
 
学生错句3：
People from disadvantaged background can improve their social status by hard working.
解释：background是可数名词，不要裸奔，这里要用复数
题目讨论
Q30 因为全球化，人们需要和来自不同背景的人一起工作。
点击查看答案解析:[image: image16]
正确的句子：
Because of globalization,  people  need to work with  those from diverse backgrounds. 
句子结构分析：
Because of globalization,  people   need to work with    those    from diverse backgrounds. 
          状语                   主语          谓语             宾语              状语
学生错句：
People need to cooperate with colleague from different backgrounds because of the globalization.
解释：
1 colleague 是可数名词，应该用复数形式
2 globalization 不可数非特指，不需要加定冠词。Becaues of 放在句末表意不清，容易造成歧义。
题目讨论
Q31 我们需要采取措施去解决一些棘手的问题。
点击查看答案解析:[image: image17]
正确的句子：
We need to take action to solve some intractable/thorny  problems.
句子结构分析：
We   need to take action   to solve some intractable/thorny  problems.
主语       谓语 +宾语                                     目的状语
学生错句1：
We need to take some measurements /actions to tackle those complicate problems.
解释：
1 measurement：the length ,height of something,不能表示方法或者手段。Action 不可数，不能用复数形式
2 complicate :difficult to understand or deal with,because many parts or details are involved.
用在这里不算错，但最好能够扩充自己的词汇量，找到最恰当的表达
 
学生错句2：
We need to take some actions to solve some intractable problems.
解释：
Action 不可数，不能用复数形式, 除非前面有形容词
题目讨论
Q32 媒体通过夸大受害者的伤痛去吸引观众。
点击查看答案解析:[image: image18]
正确的句子：
The media attract  public attention by sensationalizing victims’ suffering.
句子结构分析：
The media   attract    public attention   by sensationalizing victims’ suffering.
     主语         谓语             宾语                               状语
学生错句1：
Media attracts their audiences by exaggerating the sorrow of the victims.
解释：
1 Media 本身就是复数，谓语动词不能用第三人称单数形式，除非你强调整体。
2 Exaggerate: to make something seem better,larger,worse than it really is;
Sensationalize :to deliberately make something seem as strange,exciting,or shocking as possible 在本句中，媒体的行为明显带有目的性，用sensationalize 会更好。
 
学生错句2：
the media attract people’s attention by sensatonlising victim‘s hurts.
解释：
sensationlising,拼写错误
hurts：a feeling of great unhappiness because someone, especially someone you trust, has treated you badly or unfairly. 主要是情感上的受伤，特别是你认识的人伤害你。
 
学生错句3：
The media attract people’s attention by aggressive victims‘ suffering
 
解析： aggressive 是夸大的意思，没有激怒的意思
学生错句4:
Media enlarge sensationalize suffering to attract public attention.
解释：enlarge不能表示夸大
而且enlarge 和sensationalize都是动词，一个单句中不能有两个动词。
 
题目讨论
Q42 学校应该允许老师强制捣蛋的小孩离开教室。
点击查看答案解析:[image: image19]
正确的句子：
Teachers should be permitted to use force to remove disruptive children from the classroom.
句子结构分析：
Teachers   should be permitted to use    force    to remove disruptive children from the classroom.
     主语                        谓语                            宾补                                目的状语
学生错句1：
Teachers should be allowed by the school to force the naughty children to leave the classroom.
1 by the school 很多余，在这个被动语态中不一定要说出动作的发出者。
2 children已经有复数，不需要加定冠词
 
学生错句2：
Teachers should be allowed to use force to drive disruptive children from the classroom.
解释
Drive不能表示强制离开的意思
 
学生错句3：
School should allow teachers to use force to disruptive children to leave the classrooms
解释：use force to 后面少一个动词
 
学生错句4：
Teahcer should be allowed by school to using force to let the disruptive children out of class
解释： be allowed to do sth，use 要用动词原形。
Teahcer拼错了，teacher 和school都是可数名词，不要裸奔，要么用复数要么加冠词，let sb do sth，out of 不是动词性质，不能直接加在后面。
题目讨论
Q58 一些人不支持转基因食品。
点击查看答案解析:[image: image20]
正确的句子：
Some people disapprove of genetically modified food.
句子结构分析：
Some people    disapprove of     genetically modified food.
      主语                     谓语                           宾语
学生错句1：
Some people disagrees with the production of genetic-modified food.
解释：
1 disagree with :to have or expressa different opinion from someone else.跟不支持还是有很大区别的。
2 转基因食物的两种表达：GE（genetic engineering food）GM (genetically modified food) ，不要把这两种表达进行糅合。
如果用到了against，要注意be against sth的搭配。
 
学生错句2： 
some people do not support genetically modified food.
解释：不要按中文翻译。英文support 后面不要加一种食物。 
语法翻译题库(经典100句/主谓宾结构)
Q59 人们竭力设计景点使其符合游客的需求和品味
点击查看答案解析:[image: image21]
正确的句子：
Tourist spots endeavor to cater for tourists' tastes and needs.
句子结构分析：
Tourist spots    endeavor    to cater for tourists' tastes and needs.
   主语            谓语                      宾语
替换表达：
Tourist spots/attractions/sites
Places of interests
Tailor to: to make sth so that it is exactly right for someone’s particular needs or for a particular purpose.
学生错句1：
Tourist spots make an effort/try their best to fulfill tourists’ tastes and needs
解释：
1 make an effort 仅仅只是尝试一下,不遗余力应该用 spare no effort. Try one’s best 一般不用在书面语中。
2 fulfill: if you fulfill hope, wish ,or aim, you achieve the thing that you hoped for, wished for.表示愿望实现或者任务完成，不符合句意。
 
学生错句2： 
People try their best to design tourist spots to cater for tourists need and tastes
解释： tourist 和spots 之间是从属关系，要加一个名词所有格，tourists‘
 
.
 
题目讨论
Q60 在竞争激烈的社会，有工作的年轻人往往关心职业发展。
点击查看答案解析:[image: image22]
正确的句子：
In a highly competitive society, working adults  usually  focus on career advancement.
句子结构分析：
In a highly competitive society, working adults  usually  focus on   career advancement.
              状语                                         主语               状语      谓语         宾语
替换表达：
Intensely competitive world
Working people
Career progession
    
学生错句1：
Working people are usually paying attention to their career developments in highly competitive society.
解释：
1 时态错误，没有必要用现在进行时，一般现在时即可。
2 当society表示某个群体时是可数的，前面应该加不定冠词a.因为不止一个竞争激烈的社会。
 
很多同学在用pay attention to 的时候都会写成pay attention on，一定要注意是to而不是on。
 
学生错句2：
The perception of aesthetic differs from different cultures.
解释：differ from的用法错误，如果是后面直接接宾语，表明比较的是perception 和culture。除非用代词才行。如people differ from one another(还是人) in their ability to handle stress.
一定要直接加宾语表示比较的话，要用differ between
 
 
 
题目讨论
Q81 在消费社会里，人们不再满足于生活必需品。
点击查看答案解析:[image: image23]
正确的句子：
 In a consumer society/culture, bare necessities cannot satisfy people’s needs.
句子结构分析：
 In a consumer society/culture, bare necessities   cannot satisfy    people’s needs.
                    状语                                  主语                          谓语       宾语
解释：
consumer society: a society in which buying goods and services is considered to be very important.
学生错句：
People are no longer satisfied with basic necessities in this consuming/throwaway society.
解释：
1consuming: using a lot of sth such as time,energy,or space,意思是指消耗特别大的，不能用来表示消费社会。
2 throwaway society: used to show disapproval when talking about modern societies in which products are not made to last a long time.表示产品的质量普遍不好引起了人们的不满。也不是消费型社会的意思。
 
题目讨论
Q86 未来几十年我们很难保护语言的多样性。
点击查看答案解析:[image: image24]
正确的句子：
We  will find it  difficult to preserve linguistic diversity  in the coming decades/in the decades to come.
句子结构分析：
We    will find   it    difficult  to preserve linguistic diversity   in the coming decades/in the decades to come.
主语   谓语    形宾    补语             宾语                  状语
解释：
Sb find it difficult to do =it is adj for sb to do
学生错句：
It is difficult protect the linguistic diversity for us in the coming decades.
解释：it is adj for sb to do,所以应该是it is difficult to prptect;
          不需要“for us”;
题目讨论
Q87 随着年龄增长，我们很难和朋友、家人保持联系。
点击查看答案解析:[image: image25]
正确的句子：
With age, people find it  difficult to maintain contact with family and friends.
句子结构分析：
With age, people  find    it     difficult   to maintain contact with family and friends.
 状语          主语    谓语  形宾    补语              宾语
替换表达：
keep in touch with/stay in contact with
学生错句1：
It is more difficult for us to contact with our family as the increasing age.
解释：
1 contact做动词的时候是及物动词，可以直接加名词，不用加介词。
2 as 是连词，后面要接完成的句子。
 
学生错句2：
 It is hard to maintain contact with friends and family members with age.
解释：
 with age 放后面会产生歧义
 
 
题目讨论
Q88 免费上大学使得家境不好的学生有同等的上学机会。
点击查看答案解析:[image: image26]
正确的句子：
Free university education makes it possible for students from less well-off backgrounds  to have equal access to tertiary education.
句子结构分析：
Free university education   makes   it    possible   for students from less well-off backgrounds
              主语                          谓语    形宾    补语            状语
 to have equal access to tertiary education.
             宾语
学生错句1：
Free access to university enables students from disadvantagedbackground have equal opportunity to accept education.
解释：
1 background是可数名词，应该用复数
2 不要说accept education，接受教育的表达应该是 get/receive an education.
3 使某人能够做某事的表达应该是enable sb to do sth.不要直接加原形。
4 opportunity是可数名词，不要裸奔。
 
学生错句2：
Free university education makes it a equal access for students from less well-off backgrounds to higher education.
解释：
Access不可数，不能加冠词
To后面少了个动词，receive a college education.
 
学生错句3：
.Free university education make it possible for people who comes from less well-off backgrounds
解析：主谓不一致，education 是单数形式，后面要用makes
题目讨论
Q89 很多人觉得自己有必要赶时尚。
点击查看答案解析:[image: image27]
正确的句子：
Many people consider it  necessary to follow fashion.
句子结构分析：
Many people   consider   it    necessary   to follow fashion.
      主语              谓语     形宾      补语              宾语
替换表达:
Feel compelled to
Buy fashionable items
学生错句1：
Many people consider it is necessary for them to stay fashionable.
解释：
consider it necessary/important to do sth,it是形式宾语，necessary是宾语补足语，真正的宾语是to follow fashion.
 
学生错句2：
Many people think it is necessary for themselves to follow fashion.
解释：
themselves 反身代词，他们自己，这里用them即可，或者直接去掉，更加简练
 
学生错句3：
Many people think that it is necessary to for them to follow fashion.
解析： it is necessary to 或者 it is necessary for them to ，不要连用两个介词。
 
题目讨论
Q90 经费缩减让很多年轻人很难接受大学教育。
点击查看答案解析:[image: image28]
正确的句子：
Budget cuts/freezes make it difficult  for many young people to receive a college/university education.
句子结构分析：
Budget cuts/freezes   make   it   difficult   for many young people  to receive a college/university education.
            主语                  谓语 形宾   补语               状语                  宾语
替换表达：
attend university
Pursue a university degree
Cutting the budgetmakes it …
              
学生错句1：
Expenses shortage makes it difficult for many young people to accept university education.
解释：
1 expense强调已经产生的花销。而经费更多的是指预算费用。
2不能用accept 表示接受教育。education 前面不要裸奔。
 
学生错句2：
Budget cut lets it is difficult for many youngsters to attend university.
解释：
let引导的是祈使句，这里用make it difficult
 
题目讨论
Q95 名人的成功鼓励年轻人努力学习，坚韧不拔。
点击查看答案解析:[image: image29]
正确的句子：
The achievement of celebrities can motivate young people  to study hard and show perseverance.
句子结构分析：
The achievement of celebrities  can motivate   young people   to study hard and show perseverance.
              主语+后置定语       谓语       宾语         补语
学生错句：
The success of celebrities can encourage young generations study hard and keep perseverant.
解释：
应该是encourage sb.to do sth.
Persevere, 或者是show perseverance
